Mixed Operations with Integers

Name: Score:

Solve the following integer problems.

(-18) + 8 = 80 + (-8) = (-45) + 5 =
(-3) x (4) = (-34) x (-2) = 7 x (-3) =

29 + (-5) = 20 - (-7) = (-35) x 4 =
(-45) - (-5) = (-14) x 6 = (-20) - (-25) =
(-40) = (-8) = 22 - (122) = (-60) = (-5) =
(-20) - (-18) = (-19) x (-4) = (-19) x 7 =
19 - (-19) - (13) = (4) - 40 - (8) -
(-18) x4 = (-13)+4 = (-24) x (-3) =
(-31) x(-2) = (-16) x (-3) = (-25) x 5 =
(-16)x 8 = 48 = (-8) = 30 + (-5) =
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Answers

Solve the following integer problems.

(-18) + 8 = 225 80 + (-8) =  -10 (45) = 5= -9
(3) x (4) = 12 (-34) x (-2) = 68 7x (3) = 21
29 + (-5) = 24 20 - (-7) = 27 (-35) x 4 = -140
(-45) - (-5) = -40 (-14) x 6 = -84 (-20) - (-25) = 5
(-40) + (-8) = 5 22 - (-22) = 0 (-60) = (-5) = 12
(-20) - (-18) = -2 (-19) x (-4) = 76 (-19) x 7= -133
19 - (-19) = 38 (-13) + (-4) = 325 40 - (-8) = 48
-18)x4 = 72 (-13)+4 = 325 (24)x(3) = 72
(:31) x(-2) = 62 (-16) x (:3) = 48 (25) x 5 = -125

(-16)x8 =  -128 48 + (-8) = -6 30 « (-5) = -6



